IIpenenbHoO-10NycTUMAA PAJUAIbLHAS HATPY3KAa HA CBOOOHBbII KOHEIl BAJIa
B 3aBHCUMOCTH OT TOYKHU ee npuioxkenus Fr=f{(Fx).IM B3,B5,B14
Maximum permissible radial free shaft extension load depending

on application point Fr=(Fx). IM B3,B5,B14
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IIpenenbHoO-10NycTUMAA PAJUAIbLHAS HATPY3KAa HA CBOOOHBbII KOHEIl BAJIa
B 3aBHCUMOCTH OT TOYKHU ee npuioxkenus Fr=f{(Fx).IM B3,B5,B14
Maximum permissible radial free shaft extension load depending

on application point Fr=(Fx). IM B3,B5,B14
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IIpenenbHO-10MycTUMAA OCeBasi HATPY3Ka B 3aBUCHMMOCTH OT PAJAHAJILHOM,

NMPUJI0KEHHOM B lleHTpe ¢cBo0oaHOro konna Baja Fa=f(Fr). IM B3, BS, B14

Maximum permissible axial load depending on radial load applied
at the center of free shaft extension. IM B3, B5, B14
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IIpenenbHO-10MycTUMAA OCeBasi HATPY3Ka B 3aBUCHMMOCTH OT PAJAHAJILHOM,
NPUJI0KEHHOH B LIeHTpe cBo0oaHOr0 KoHua Baja Fa=f(Fr). IM B3, BS, B14
Maximum permissible axial load depending on radial load applied
at the center of free shaft extension. IM B3, BS5, B14
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